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(3) Ru e &)+ A 0 TIR B A, B 0 3w W i o e §1 AR s v oo @
it g T &, @ 3w Sy A S A S o wetew w0 e A % R e v e 3 R
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R oft 38 w9 ¥ forg swdwman @ s we w1 qve R o)
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& fen smem)

WE qh AR TE TGO i @I W T HE AU a9 a% 7 @ret

Note : English version of the instructions is printed on the back cover of this Booklet.

Ashok Nagar X Roads, Hyderabad-20 | www.ekamiasacademy.com | 81210 17337




1. Frafefaa st w fmr i

1. &3 WHR N ARG foid FF (Mo
o 3g0) % T 1 Frafes ) T 21

2. WRdE wRYR ¥ Fhw gEum R
TWHR F AR § ARo o 3o H
w3 =1 aifter 39 ¥

3. 3Ro #flo 3MRo T TER AT AfFR
(IreR) 3o o 3o Ffufgw A ww
T B

I FE H ¥ FH-Y 9 &7
(@) ¥aa 1 3R 2

(b) aa 2 3R 3

() %aa 1 3R 3

(d 1,233

2. i@ # Frifm ofem g ¥ wed d,

Frafafaa FeEt w fomr fifv .

1. ®fi e A, FHER wfsr By
T & THR T

2. ot sfEd g Fafn sd-wm @
TR TAH F THIR B

3. W@R HAtgE & gw Fe fAfRfdE ®
Tl ¢ % A wfomm @1 s@m FEa
A §F @Al % WM @ ASgd W

T HOT|
I HeEl H ¥ DAY A/ 7
(@) ae 1 3R 2
(b) Fad 2 3R 3
(c) Fad 1 3R 3
d 1,23R3
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3. anfds 7t % e, Frafafaa # @ #9-w1 Fan

3BT T ) Faiis Gx1aT gt 27

(@ DA A G F qY-a19 =R R F
gfg e

(b) WESE GRS | =g #§ gfg e

() WA A IFEF Tg-a9 I | A
FHt FET

(d) wrEsieS TREee | g # w5 wE

4. Frefafaa sy ® =R At .

3 91d iafda @ W sft el g % fo
TSR A 98 ! B, Il

1. 39 WEYE a5 I Fima d gl @
2. T T I A HE A 7 A

3. a%g ufen fFm &t @ R Iusiiemedt
o # gfg A R

4. T Fiwa vedt @
IFH wol § A FH-Y A E?
(@) Faa 1 3R 4

(b) 2,334

(c 1,334

(d 1,23R3
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1. Consider the following statements : 3. Which among the following steps is
1 il Wi of dhe Restrve Bank most likely to be taken at the time of

of India (RBI) is appointed by the R S AR 3o T o
Central Government. 3
Sie (@) Cut in tax rates accompanied by

2. Certain provisions in ; PR
increase in interest rate

Constitution of India give the
Central Government the right to

issue directions to the RBI in public (b) Increase in expenditure on public
interest. projects

3. The Governor of the RBI draws his )
power from the RBI Act. (c) Increase in tax rates accompanied

by reduction of interest rate
Which of the above statements are

correct? (d) Reduction of expendifure on public

(a) 1 and 2 only ; projects
(b) 2 and 3 only

(¢) 1 and 3 only
4. Consider the following statements :

(d 1,2 and 3
Other things remaining unchanged,
2. With reference to casual workers market demand for a good might
employed in India, consider the increase if

following statements :

1. ice of its substitute i ases
1. All casual workers are entitled pri su incre

for Employees Provident Fund 2. price of its complement increases
coverage.

2. All casual workers are entitled 3. the good is an inferior good and
for regular working hours and income of the consumers increases

overtime payment.
4, its price falls

3:. The government can by
a notification specify that an
establishment or industry shall Which of the above statements are
v pay wages only through its bank correct?
account.
Which of the above statements are (@ 1 and 4 only
correct?
(@) 1 and 2 only (b) 2,3 and 4

(b) 2 and 3 only
(c) 1 and 3 only
(d 1, 2 and 3 (d 1, 2 and 3

(¢ 1,3 and 4

BXC-U-FTHI/68A 3 [P.T.O.
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5. wRa # ‘wed wewrt qi’ F vl #, fr=fafaa 7. Trefafas w fmr fifvw
bkl “ipdan 1. e g e At
1. TS 9R 3R T g dead gr &t ¥ fRft g v
e e v T B e 2 ¢ zﬁ Fise o
2. A A TR o st A WA W = o i g
T B 4, fyard faesh s
3. 3¢ a8 1966 ¥ TH WWHEA F TW e & A frd/fed RReh vmw faw @
et fafmmm sfifem, 1949 & wftifera R s gea &/fFu s wa §7
wE-83 T T 91 :
(@ 1,233
I oAl § @ BH-T1/AA-Y w9 R/F7
() Fa9 3
(@) *aa 1
(c) 23R4
(b) Faa 2 3R 3
d 134
() Fae 1 3R 3
@ 1,233 8. frefiifas Ho w Arew HIf ;
ot g1 % e F AN TR R TR SR
6. YA WEM Wi Wawe frefafea # @ sifed w9}
b st 1 R W # wq P @
1. FA15eE R et ford o FHam yfeequtereral = sqmr 8
2. WA e S fit FHars 2. e gE & faReht gew ) @grn ®
3. gEehifa T ey = ® 3. SR Gged § GUR @
R Ry e F2 w1 W R F@ W A I oAl § A FH-T/FA-8 G R/R7 ?
(a) Faa 1 3R 2 (@ ¥4 1
(b) Fad 2 (b) 13K 2
(c) Fad 3 (c) Faa 3 |
@ 1,233 (d) 233
BXC-U-FTHI/68A 4
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5. With reference to ‘Urban Cooperative
Banks’ in India, consider the following
statements :

1. They are supervised and regulated
by local boards set up by the
State Governments.

2. They can issue equity shares and
preference shares.

3. They were brought under the
purview of the Banking Regulation
Act, 1949 through an Amendment
in 1966.

Which of the statements given above
is/are correct?

(@) 1 only

(b) 2 and 3 only

(¢ 1 and 3 only

(d 1,2 and 3

6. Indian Government Bond Yields are
influenced by which of the following?

1. Actions of the United States
Federal Reserve

2. Actions of the Reserve Bank of
India

3. Inflation and short-term interest
rates

Select the correct answer using the
code given below.

(a) 1 and 2 only

(b) 2 only
(c) 3 only
d 1,2and 3

BXC-U-FTHI/68A
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7. Consider the following :

1. Foreign currency convertible bonds

2. Foreign institutional investment
with certain conditions

3. Global depository receipts

4. Non-resident external deposits

Which of the above can be included in
Foreign Direct Investments?

(@ 1,2 and 3
(b) 3 only

(c) 2 and 4
(d 1 and 4

8. Consider the following statements :

The effect of devaluation of a currency
is that it necessarily

1. improves the competitiveness of
the domestic exports in the foreign
markets

2. increases the foreign value of
domestic currency

3. improves the trade balance

Which of the above statements is/are
correct?

(@) 1 only
(b) 1 and 2
(c) 3 only

(d 2 and 3

[ P.T.O.
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9. WG # FA ¥F & FoH » fr-faiiaa wwmEl § | 11. Fr=faflaa § ¥ fred frdi sefoawen & g

FH-H1 9 WEHR o w1 @ wwo R? o § i Bt 27
(@) TR G9E1 ¥ A i e s (@) & # smfaa T e s A 9fs
# fam & fore denei &1 sT9dem
(b) i % wifaftes weffy o # 3fa
(b) ¥gerEs TfatateEt # faw i sEmw, ()<t 8 st A 3
Ted, HH1 AR 1 564

(d) < 6 sEen § 3fg
(c) TSHifa Tell I 98 =R @ &FER
forpra

(d) N AYETH % FRU TSN A T H

af 12. A s % wed #, Ahn-fa Rk
71 3q8 gfe F=fafaa e wro & ad 27
1. Torawerd ifaat
2. T Fredred
10. Freffan # @ Fa-a aw W § i 3. EEhfl gEEEA W (FIRE-
AT B g 7 TofRi o)
4. I FT AR
(a) WTESIER Fo1 6l FRI : 5. wedl s & d
49 fou T F2 F1 TR W HqE TN | .
(b) s U % faxigd & fog sar & IUR - EA
o (@) *ad 1, 2 3R 4
() s = & fomfiom % fog § @ 3uR (b) Fa« 3, 4 IR 5
Kol

(c) Faad 1,2, 33R5

(d) =z = ¥ T % fore 7 g3 1 gom
T (@d 1,2, 3,435

BXC-U-FTHI/68A 6
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9. Which one of the following effects of 11. The money multiplier in an economy
creation of black money in India has increases with which one of the
been the main cause of worry to the following?

Government of India?

(a) Increase in the Cash Reserve Ratio
in the banks
(a) Diversion of resources to the

purchase of real estate and (b) Increase in the Statutory Liquidity
investment in luxury housing Riiio' i Thié bariks

(c) Increase in the banking habit of

(b) Investment in unproductive the people

activities and purchase of precious

stones, jewellery, gold, etc. ;
(d) Increase in the population of the

country

(c) Large donations to political parties
and growth of regionalism
12. With reference to Indian economy,

demand-pull inflation can be caused/

(@) Loskeol revenite @ ihe Rt increased by which of the following?

Exchequer due to tax evasion 17 Aanail policies

2. Fiscal stimulus

10. Which one of the following is likely to 3. Inflation-indexing wages
be the most inflationary in its effects?
4. Higher purchasing power

(a) Repayment of public debt S. Rising interest rates

Select the correct answer using the
(b) Borrowing from the public to code given below.
finance a budget deficit

(a) 1, 2 and 4 only

(c) Borrowing from the banks to

finance a budget deficit (b) 3, 4 and 5 only

(c) 1,2, 3 and 5 only

(d) Creation of new money to finance
a budget deficit (d)y--1, 2; 3,49 and 5

BXC-U-FTHI/68A 7 g i
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13. W & ®ey #, F=fvfgs wel w faEw

Hifre

1. @ fRvs e @[ & mewm @
e SR § Tere fow (39 forer)’
MR ‘Rd TER F O e’ # fEem =
& B

2. ‘e ¥ T A Yorell-iet e
(Friftrge difem fem-artdr afem)’
T fod 9% @ weh wfafa
I w9 R

3. ‘Hm Tl wffew fafre’ =
T Ao 9% 1@ wred Wi e
TR TG §9 W WG oA S R

I FoE H |} BA-H1/AH-R T /77
(@ FaEd 1
(b) 132
(c) Fad 3
(d 233

14. ‘SrewHfE’ ¥ ded #, frefufa wuat | fEw

i :
1. 8 9 TE Wesdal &6 3 Y % foe g

o (TR ) # W]

ez d

2. & % Afus wra § @ fog w@w=
e iR fag 8% ¥ dEmEyE * Ry
T T B

3. o k@ fadq =i | welRd
fom oroet So-veeh SavaE@e B QU
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15. WRa ¥, ‘3iftw Suremn (et 3T e faré)’

F A P 9 H wE A WG
Frafafaa § @ «=n aftifem &/87

1. 39 9dl ¥ o o # fAvd 87 W
R & IFT [l N 0 YoM wWE=

2. IR T F GHY A % forg ey
IYAY FAT

3. T URl ¥ e ¥ R w@nt #t
T

R Ry 7T F2 w1 v@m W g WGPy
(@ 13R2
(b) F 2
() 233

(d) ¥aa 3

16. frfafaa & & fres sifimm /1 e w@

¥ for ‘R2 =@eEr wfe@m (R2 #ie A%
YfFds) WA Iy w87

(a) ToraiER e Sam # waiefa g
¥ fagaia =gaer

(b) THER FH¥H & IFAla AU Hed i

F & forg wmed &9 R a8 Y’ w1 aifefos yevm
I HoEl A A FH-Y |/E 7 PR T e S W g v g
(@) Faa 1 3R 2 N
(b) a4 2 3R 3
(c %ad 1 3R 3 (d) THF FEEAt F A X Tl
(d 1,23R3 TS e
BXC-U-FTHI/68A 8
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13. With reference to India, consider the

following statements :

1. Retail investors through demat
account can invest in ‘Treasury
Bills’ and ‘Government of India
Debt Bonds’ in primary market.

2. The ‘Negotiated Dealing System-
Order Matching’ is a government
securities trading platform of the
Reserve Bank of India.

3. The ‘Central Depository Services
Ltd.” is jointly promoted by the
Reserve Bank of India and the
Bombay Stock Exchange.

Which of the statements given above
is/are correct?

(a) 1 only
(bj 1 and 2
(c) 3 only
(d 2 and 3

14. With reference to ‘WaterCredit’, consider

the following statements :

1. It puts microfinance tools to work
in the water and sanitation sector.

2. It is a global initiative launched
under the aegis of the World Health
Organization and the World Bank.

3. It aims to enable the poor people
to meet their water needs without
depending on subsidies.

Which of the statements given above
are correct?

(@) 1 and 2 only
(b) 2 and 3 only
(¢/ 1 and 3 only
[d) 51, 2 and 3

BXC-U-FTHI/68A
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15. In India, the central bank’s function

as the ‘lender of last resort’ usually
refers to which of the following?

1. Lending to trade and industry
bodies when they fail to borrow
from other sources

2. Providing liquidity to the banks
having a temporary crisis

3. Lending to governments to finance
budgetary deficits

Select the correct answer using the
code given below.

(@) 1 and 2
(b) 2 only
{c) 2 and 3

(d) 3 only

16. R2 Code of Practices’ constitutes a tool

available for promoting the adoption of

(@) environmentally responsible prac-
tices in electronics recycling

industry

(b) ecological management of
‘Wetlands of International
Importance’ under the Ramsar
Convention

(c) sustainable practices in the
cultivation of agricultural crops in
degraded lands

(d) ‘Environmental Impact Assessment’
in the exploitation of natural
resources

[AS ACADE]|
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17. 8 Yo G931 % =R e &1 SR @ 27

1. 9 wFfo § wEq AHEEES B 96
aEnet # e = w2

2. THEA (FW WH) Wi § FS AW
uigslt % faem (efifem) =1 Fror ==
T 8

3. A GoH SRIAEREE B Th WGHF & ¥
# Ffe = whd £

ﬂ%ﬁgmwmuﬁnmuﬁmgﬁm
(@) Fad 1 3R 2
(b) Faw 2 3R 3
(c) Fae 1 3R 3
(@ 1,233

18. W& I (w9u fge) F weof #, Frafafed
FHol | o Hifv

1. ¥ ad qiemiEl (Resad) 1 o I9=
d

2. T JEM FEH TN F (IRR) IAA
% forg #2a €1

3. TO% I9AM § qEfEOr § TYs H1 Seds
Bt 81

IR FoE § A P2 A 77
(@) e 1 3R 2
(b) Faa 2 3R 3
(c) Faa 133
(d 1,23R3

BXC-U-FTHI/68A
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(@) TEEPRl R odm uiferfes @ gm
e e

(b) T & e (FEmE) 3R FN gar F
yeaIfed HrEq

(c) UAferm iR wHfas T | safae FreA

(d) argHEd § TEmm Fe

20. wHfa #, f=fafad § & fea s =1/t Sl
¥ gerfeda gae W Sifed o sm i waifas
HTET 87

1. W

2. TTEHA
3. HME

4, oA (WIEH)

Ha fo T F2 F @ = EE IR A
(a) Faa 1 3R 4

(b) F 2

() 23R3

(d 1,3 3R 4
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17. Why is there a concern about copper 19. What is blue carbon?
smelting plants?

I They may release lethal (a) Carbon captured by oceans and
quantities of carbon monoxide coastal ecosystems
into environment.

2. The copper slag can cause the (b) Carbon sequestered in forest
leaching of some heavy metals biomass and agricultural soils
into environment.

3. They may release sulphur dioxide (c) Carbon contained in petroleum and
as a pollutant. natural gas

Select the correct answer using the (d) Carbon present in atmosphere

code given below.

(]

(a) 1 and 2 only
(b) 2 and 3 only 20. In the nature, which of the following
is/are most likely to be found surviving
() 1 and 3 only on a surface without soil?
(d 1, 2 and 3 v
18. With reference to furnace oil, consider 2. Lichen

the following statements :
3. Moss

1. It is a product of oil refineries.

: 4. Mushroom
2. Some industries use it to generate

power.
3. Its use causes sulphur emissions Select the correct answer using the
into environment. code given below.

Which of the statements given above

are correct? (@ 1 and 4 only
(a) 1 and 2 only (b) 2 only
(b) 2 and 3 only
(c) 2 and 3
(c) 1 and 3 only
(d) -1,°2 and=3 (d 1, 3 and 4
BXC-U-FTHI/68A 11 [P.T.O.
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21. Fafafan 4 @ e s wls =t 24. ‘T W =Eih HGmon (@i fwiwm sl

g TR & § T s 87 wiegg) ¥ ey ¥, fefafas & @ f¥9-3
(@) HE 99 YA TEl 87

o 1. 2014 #, 9g% g Saag e adem
) i T ygell IR 381 gq9 foman mam on)
(c) <A wE 2. TEH 9 F g FH Vb & fog o Afiw
(d) FZH™ 99-3@ 1 gad fman )

3. 9% 99 ¥9 ¥ TS gy =Swon R)
22. &l % fefafad yerl w famr fivw

4. I waR, 9 FafwEr iR e wgEE
1. i BT |afdia B
2. WA 5. YRE, T9% YRY % G99, eeeREdiel i
3. 3TEW q T )
4. wREfE ‘-ﬁ%ﬁqﬂqwmmaﬂaﬁmgﬁm
I § 4 *H-2 e wEwERl i AR (@ 1,234
FEeist § mufies IaReE 87 b 1,35
(@ 13R2 (¢ 334
(b) 233 (d 23R5
(c) 334
@ 13R4 25, dfeR suEE (FRERMTE) Frens % fag
ITEE TR WM a9 Wege Fu gaiawia
23. Freffad witwl w fer Hife wgueh & &9 § fFrafafaa #§ & e o=
: : 3
1. e (3=8m) f o
2. HenEH (AT 2‘ i'!”'g'ﬁm
e Wichon ) 3. A v AR T R
IEE § A FH-W/FA-A @ waEE g & S i
THS W I GHIET B FH w5 o, wE N
H TR N gua A e war @/ v i
EG R 44 R o T F2 F wEm W wEd IW I
(@ 1 32 (@ ¥a@1, 2, 335
(b) A 2 (b) Fa@ 1, 2 3R 4
(c) % 3 () ¥a@3, 43R5
(d 133 @d 1,2 3, 43R5

BXC-U-FTHI/68A 12
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21. Which one of the following is used in 24. With reference to the New York
preparing a natural mosquito repellent? Declaration on Forests’, which of the

e Bl e following statements are correct?

1. It was first endorsed at the United

(b) . Elephant grass Nations Climate Summit in 2014.
(c) Lemongrass 2. It endorses a global timeline to end
(d) Nut grass the loss of forests.
3. It is a legally binding international
22. Consider the following kinds of declaretion.
] organisms : 4, It is endorsed by governments,
big companies and indigenous
1. sCopapsds communities.
2. Cyanobacteria 5. India was one of the signatories
3. Diatoms at its inception.
4. Foraminifera Select the correct answer using the

. code given below.
Which of the above are primary

producers in the food chains of oceans? (@ 1,2 and 4
(@) 1 and 2 L) FP ol 5
¢ 3and 4
(b) 2 and 3
(d 2 and5
() 3 and 4
(d) 1 and 4 25. Magnetite particles, suspected to

cause neurodegenerative problems, are
. 4 : 3 generated as environmental pollutants
23. Consider the following animals : from which of the following?

1. Hedgehog Brakes of motor vehicles

2. Marmot

3. Pangolin

Engines of motor vehicles
Microwave stoves within homes
Power plants

Telephone lines

To reduce the chance of being captured
by predators, which of the above
organisms rolls up/roll up and protects/

protect its/their vulnerable parts? Seleot .the COSTect - answer using ‘the
code given below.

e

(@) 1 and 2 (@ 1,2, 3 and 5 only
(b) 2 only : (b) 1, 2 and 4 only
(c) 3 only (c) 3,4 and 5 only
({d 1 and 3 d 1,2, 3,4 and 5
BXC-U-FTHI/68A 13 LT
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26. fFrfefad # @ FF-w Sia s 9st (e
frex) 37

(@) ST H (%)
(b) BN (SATHITH)
(c) W9 (3TRR)

(d) T (AferR)

27. Frefafaa Sa sgrmate =t 3§ @ fred, Tg@t
F1 FUHT TH § WA FA A Q9E dE *
Ffe B9 =1 7= e #7

(@) A T
(b) TTRGSH wh
(c) THITHRE T

(d) T T

28. fiefiflgd § @ FR-8 e uGERER
(3zm3fear) &7

1. Hgem

2. Sieifem

3. weaud (Frefidie)

4. wgs el (HiEH)

5. 8 IH (JSH)

9 g T e = W W FE IR g
(@ Fad1, 23R4

(b)) ¥ad 2, 3, 4 35

(c) Faa 1,335

(d 1,2, 3 43R5
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29. Jo To 3o o gRI wHida FHHA FET AfeH’
) Ferafor feepfea foram man 27

(@ | fag § Fmin w1 % FE7 wibg w1
3T HH & ey

(b) HTE Icaeq ANR § Faww fi e
HH weell % yau ¥ AER P F
m

(c) TR H g W gE Ay M T

FTeA UeE % AThed ¥ AUFR F &
fer

(@ T = s (e 2rm) | fag 3
Sfareft feHt % I @ SO AW T
Y FEA Ueg % AHeH & 1T

30. frafofaa wgl # | e el snfeat @ &,
S = Al % w1 GEsidl qa9Y 591 Gl 87

1. st
2. A% (H%)
3. onfesig (esna)

9 Ry e F2 w1 W@ W @ W I
(@ Faa 1 3R 2
(b) Fad 2 3R 3
(c) Faa 1 3R 3

(@ 1,2 3R3
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26. Which one of the following is a filter 29. The ‘Common Carbon Metric’, supported
feeder? by UNEP, has been developed for
(a) Catfish (a) assessing the carbon footprint of
building operations around the
(b) Octopus ot
(c) Oyster

(b) enabling commercial farming
(d) Pelican entities around the world to enter
carbon emission trading

27. In case of which one of the following (c) enabling governments to assess the
biogeochemical cycles, the weathering overall carbon footprint caused by
of rocks is the main source of release their countries

of nutrient to enter the cycle?

(d) assessing the overall carbon foot-
print caused by the use of fossil
fuels by the world in a unit time

(a) Carbon cycle

(b) Nitrogen cycle

(c) Phosphorus cycle

(6 " Salpar cyle 30. Which of the following have species that
can establish symbiotic relationship

28. Which of the following are detritivores? Wipviner giganisme?

1. Earthworms 1. Cnidarians

Jellyfish 2. Fungi

2
3. Millipedes e e o
4

Seahorses
5. Woodlice

Select the correct answer using the

: code given below.
Select the correct answer using the

code given below.
(a) 1 and 2 only
(@ 1, 2 and 4 only

b) 2 and 3 onl
(b) 2, 3,4 and 5 only RSt o ey

() 1, 3 and 5 only () 1 and 3 only
[d) L 2,3 4and's (d 1, 2 and 3
BXC-U-FTHI/68A 15 [ PTGk
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31. 31 % iy @ <es Fife dfet % e 4,
Frafafaa Fuat ® fa=ar $ifsw

1. 98 H=a99rd a9l & wEse | Al
TH JATHR AR B

2. I8 wRa ¥ Fiffa wwwm gamer w@fk @)

3. THH RW W &7 § W[ qw-v A
TIcETeA <A1 AT

4. W feomE ¥ 7@ Al awon s f6
JE ARAE GHe Yo % Torg SRon-did @1
1)

I9Yh YAl § ¥ BA-Y T 7

(@ 13R2

(b) ﬂaazaﬁts

() 134

(d) 2,334

32. Tafafea # ¥ SF-w1 y=fiv TR 3w 9 S
oga 3R yaua woeht & fou gufeg R, swl
sttt < g@en w1 fwfo fen w0 ot ok weg
HATTET § e % WA | S I Yared B
SITan o7
(@) e
(b) TGS
(c) - TEFT

(d) T8

BXC-U-FTHI/68A
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33. wEl WA % veq wqutw #, Frerfrhea # @

Fel Ifem $= ifem Wl w1 wmam/
* FREM f&a a1/97?

& L MRer]

2. fawm==
3. ffeEmeh

= g e %2 & wEm W wd W ghe
(@ a1
(b) 13R2
(c) a3
(d) 233

34. W Y F U A TR AR Hiadi wardl §

THaH % IUM 9% IR NRd § FrefoRaa d
Q e =l &1 A @t

1. W9 F T
AT % THR
TR % Jeasf
Fa & Hah
<afift & ared
Tt & o

TN i R

= faw T g2 1 W@ R wE W gl
(@ 1,23R5

(b) 1,3,43R6

(€ 2,3 3R 4

(d 53R6
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31. With reference to Chausath Yogini

Temple situated near Morena, consider
the following statements :

1. It is a circular temple built during
the reign of Kachchhapaghata
Dynasty.

2. It is the only circular temple built
in India.

3. It was meant to promote the
Vaishnava cult in the region.

4, Its design has given rise to
a popular belief that it was
the inspiration behind the Indian
Parliament building.

Which of the statements given above
are correct?

(@) 1 and 2
(b) 2 and 3 only
fc) 1 and 4

(d) 2,3 and 4

32. Which one of the following ancient towns

is well-known for its elaborate system
of water harvesting and management
by building a series of dams and
channelizing water into connected
reservoirs?

(a) Dholavira
(b) Kalibangan
(c) Rakhigarhi

(d) Ropar

BXC-U-FTHI/68A
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33. In the first quarter of seventeenth

century, in which of the following
was/were the factory/factories of the
English East India Company located?

1. Broach

2. Chicacole

3. Trichinopoly

Select the correct answer using the
code given below.

(a) 1 only

(b)) 1 and 2

(c) 3 only

(d) 2 and 3

34. From the decline of Guptas until the

rise of Harshavardhana in the early
seventh century, which of the following
kingdoms were holding power in
Northern India?

1. The Guptas of Magadha

2. The Paramaras of Malwa

3. The Pushyabhutis of Thanesar
4. The Maukharis of Kanauj

5. The Yadavas of Devagiri

6. The Maitrakas of Valabhi

Select the correct answer using the
code given below.

(@) 1, 2 and S5
(b) 1,3,4 and 6
(c) 2,3 and 4
(d) S and 6

o I
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35. Yaell o@® g9 & IgER, fosRAR wmsa 37. FrafaRaa gmi w faem Hifs

H wfgerd fr=fafaa # @ 6 &=t 3 fgo off?
. = (Yt Tam) (Tt = wwon)
' 1. goem ;. fa%d 39 W
2. SAfqwemE .
2. FZHRQTE ;I el
3. S 3. TR : TH HaATFHaEl
4. wfasamft
IFE gE § A FH-m/ER-A T gafa
413 Tt 2 4 s A #/e?
(@ Fad 1
(@) Fad 1, 2 IR 3
(b) 132
(b) Faad 1, 3 3N 4 (¢ ¥ 3
() ¥aa 2 3 4 (@ 233
(@ 1,2, 33MR4 38. frefufa Foi w =R Ffv :
1. 3oqamE™ % AEAHA H, SO @H WS
ey gaus il @ § fay T o
36. iy W # weAF ¥ wed #, Frafutea # A g ol
FH-H1 HUA FE 27 2. YR o gers % weEeE H, TR A
goam W AR B a1 iR fay 4@
(@) Tfa 3% 3 et wrda Wi s @ IR i off|
&1 e form) 3. foomr = &% @ W fidfw &
GRS §, IRl g T a6 q2 |
(b) TEI HiarHa 3 I&f | Ny &9 A W g A1l
BIS! oM fepam
' 4 5 ] R R e SE ey
(c) @aqm?ﬂxﬁuﬁrrmmmﬁ (@) Fad 1
3isht & argame o)
(b) 132
(d) Pen sAECE ag1 FAA AAHE A T (c) ¥ad 3
Tea 7Rl PEEifeea Sl ® e
T fomm | (d) 2 3R 3
BXC-U-FTHI/68A 18
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35. According to Portuguese writer Nuniz,

37.

the women in Vijayanagara Empire were
expert in which of the following areas?

1

-

3.

4,

Wrestling
Astrology
Accounting

Soothsaying

Select the correct answer using the
code given below.

(@)
(b)
(c)
(@

36.

With reference to

1, 2 and 3 only
1, 3 and 4 only
2 and 4 only

1, 2, 3 and 4

Madanapalle of

Andhra Pradesh, which one of the
following statements is correct?

(@)

(b)

()

(@)

BXC-U-FTHI/68A

Pingali Venkayya designed the
tricolour Indian National Flag here.

Pattabhi Sitaramaiah led the Quit
India Movement of Andhra region
from here.

Rabindranath Tagore translated
the National Anthem from Bengali
to English here.

Madame Blavatsky and Colonel

Olcott set up headquarters of
Theosophical Society first here.
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Consider the following pairs :

( Historical place) ( Well-known for)

1. Burzahom Rock-cut shrines

2. Chandra-

ketugarh Terracotta art

3. Ganeshwar Copper artefacts

Which of the pairs given above is/are
correctly matched?

(a) 1 only
(b) 1 and 2
(c) 3 only
(d) 2 and 3

38. Consider the following statements :

1. It was during the reign of Iltutmish
that Chengiz Khan reached the
Indus in pursuit of the fugitive
Khwarezm prince.

2. It was during the reign of
Muhammad bin Tughlug that
Taimur occupied Multan and
crossed the Indus.

3. It was during the reign of Deva
Raya II of Vijayanagara Empire
that Vasco da Gama reached the
coast of Kerala.

Which of the statements given above
is/are correct?

(@) 1 only
(b)) 1 and 2
(c) 3 only
(d) 2 and 3

[P.T.O.
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39. frfefad syl W fmm fifsw : 41. WA ¥R F 3foem & "l A, wayfa, sfemg
1. §d wiftm IR, g 9 (IAK) F a9 AR T i A7
T TEE A QT A (@ ¥y
2. 4a wifgw sfeer Tar # g8 adn
d iy 1 ¥ G Ry
3. e W ad g R AR A Il
F1 STEH e B (d) et
b kR 42. Frefifes Hot w Rem S ;
(@) ¥ LH00 1. 1919 ¥ #iE-JEE guwd #, 21 a9
(b) Fae 2 3 3 ¥ s g Hi @ wfeens F foe
(c) ¥Faw 1 3R 3 TR < wegfa |
@ 1,293 2. 1935.%113#312&?%‘5'%111‘132%
faurmea # ufeenet ¥ fou smfda
40. TR W@ ¥ whEw H wed #, Pl A R
FE! § § BE-91/R-Q 98 B/87 T FUAE § W BH-T/HA-H T 2/R0
1. free 3= i B R Rl o ok b
s f= snfa 6 fafaa fafy ot
2. fw wEen %, g oW R ¥ e
e § & woft | ARER F e (c) 1323
F GHd A, FEiH AP a1 § fyan @ AR 1IRAE 2

# 7Y F INQ & IF q W AR

ik 43, yda Ihem § 8 3vwd, 1942 & GeW #,

3. Tomem aen et ofar & Faa gew A .
et 3 Hai e R 3 i @
B, el g Fae R afEr F (a) Qf’mo!‘ﬁolﬂhommﬁ@rmﬁ
69 U9 Hieen wew, aFl % wufi-gad pfier fohan |
Fftrs e # wRdl ) afffea w1 %
= o T Fz F wE wEE W AU Rl
(@ 132

(c) |Td Widl § i "t A w@wes e

(b) HaS 2
(@) T 3 veam w@n 6 i e e v
@ 133 N @ gyl AffeR Rew TR
(d) ¥« 3 w9 il Ty i St
BXC-U-FTHI/68A 20
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39. Consider the following statements :

1. St. Francis Xavier was one of the
founding members of the Jesuit
Order.

2. St. Francis Xavier died in Goa and
a church is dedicated to him there.

3. The Feast of St. Francis Xavier is
celebrated in Goa each year.

Which of the statements given above

are correct?

(@) 1 and 2 only

(b) 2 and 3 only

() 1 and 3 only

(d 1,2 and 3

40. With reference to the history of

ancient India, which of the following
statements is/are correct?

1. Mitakshara was the civil law for
upper castes and Dayabhaga was
the civil law for lower castes.

2. In the Mitakshara system, the sons
can claim right to the property
during the lifetime of the father,
whereas in the Dayabhaga system,
it is only after the death of the
father that the sons can claim right
to the property.

3. The Mitakshara system deals with
the matters related to the property
held by male members only of
a family, whereas the Dayabhaga
system deals with the matters
related to the property held by
both male and female members of
a family. %

Select the correct answer using the

code given below.

(a) 1 and 2

(b) 2 only

() 1 and 3

(d) 3 only

BXC-U-FTHI/68A
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41. With reference to the history of

ancient India, Bhavabhuti, Hastimalla
and Kshemeshvara were famous

(a)- Jain monks
(b) playwrights
(c) temple architects

(d) philosophers

42. Consider the following statements :

1. The Montagu-Chelmsford Reforms
of 1919 recommended granting
voting rights to all the women
above the age of 21.

2. The Government of India Act of
1935 gave women reserved seats
in legislature.

Which of the statements given above
is/are correct?

(@) 1 only

(b) 2 only

(¢) Both 1 and 2
(d) Neither 1 nor 2

43. With reference to 8th August, 1942 in

Indian history, which one of the
following statements is correct?

(a) The Quit India Resolution was
adopted by the AICC.

(b) The Viceroy’s Executive Council
was expanded to include more
Indians.

(c) The Congress ministries resigned
in seven provinces.

(d) Cripps proposed an Indian Union
with full Dominion Status once the
Second World War was over.

[P.T.O.
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44. T § B 3T F onfea weiA wRd aifife 48, WRd 3faem % wed #, Fmfafad sl & @

Tifererres— wi=q %im e’ | dag &7 PH-F1 /-0 T R/E7

(@) T TR foes 1. FER T A AR 6 Fema 1 35

(b) VAR EE (S

(o) e FE 2 an%ﬁxgmmmgm

(@) W g z mu:mq?é;’:a ko
45. nFEH YRd & e #, Fefafes § @ = g g %2 = wEm W wd@ W ghn)

FH-°1 AHR A g A AWA w A G @ 132

3TN 87 Srid

(@) TOHAI—EHR—E o v s

(b) FEHR—ITHAT—HE S

(c) GA—HTHR—ITH
(d) THI—HEA—HHR 49, Frfafad ot # & wF-w1 ¥ 27

(@) Fstal TEIE, arE A€ Ao F R
46. T A A Wz F w9 § feg B T

Hog A/of, S @@ F v Fiw THa H W ~ (p) Wi T, da@ 7 A T @ Ry
¥ I A e (c) Tig-qn TH ¥ AR, wa 7 H wd
(@) TH SHe # o 1
(b) FAFAY TR (d) FEdR T, el 76 A ud § m
Bl :
(c) $utEz fmarR _
(@) wOfE g 50. fr=fafaa wuat = fmm $ifse
4. e 5w & 1. JMA% (UNICEF) g0 21 H@&d
> g i s et g feam i e
?{a%mmmg 8 R e 2. e B wRER @ § 9 W
T 5 Tpwwiedl # aven # oft wfdfem
(@) R 3R AfEFR ARed S Ja1 H ®9 S
J
3 X ?
(b) 1946 F idhw TWHR F ewt F w9 F mﬂﬁ;ﬁﬁawmmﬁwaﬁ
(c) wRum wn i s whf ¥ wewt ¥ w9 fa); LA
| (b) A 2
(@) e fee o (R e omf) (¢ 1323
el & w9 & (@ Jd13mad2
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44, Who among the following is associated

with ‘Songs from Prison’, a translation
of ancient Indian religious lyrics in
English?

(a) Bal Gangadhar Tilak

(b) Jawaharlal Nehru

(¢) Mohandas Karamchand Gandhi
(d) Sarojini Naidu

45. With reference to medieval India, which

one of the following is the correct
sequence in ascending order in terms
of size?

(a) Paragana—Sarkar—Suba
(b) Sarkar—Paragana—Suba
(c) Suba—Sarkar—Paragana
(d) Paragana—Suba—Sarkar

46. Who among the following was associated

as Secretary with Hindu Female School
which later came to be known as
Bethune Female School?

(a) Annie Besant

(b) Debendranath Tagore

(c) Ishwar Chandra Vidyasagar
(d) Sarojini Naidu

47. In the context of Colonial India, Shah

Nawaz Khan, Prem Kumar Sehgal
and Gurbaksh Singh Dhillon are
remembered as

(a) leaders of Swadeshi and Boycott
Movement

(b) members of the Interim
Government in 1946

(¢) members of the Drafting Committee
in the Constituent Assembly

(d) officers of the Indian National Army

S e ———
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48. With reference to Indian history, which

of the following statements is/are

correct?

1. The Nizamat of Arcot emerged out
of Hyderabad State.

2. The Mysore Kingdom emerged out
of Vijayanagara Empire.

3. Rohilkhand Kingdom was formed

out of the territories occupied by
Ahmad Shah Durrani.

Select the correct answer using the
code given below.

(@) 1 and 2

(b) 2 only

(c) 2 and 3

(d) 3 only

49. Which one of the following statements

is correct?

(a) Ajanta Caves lie in the gorge of
Waghora river.

(b) Sanchi Stupa lies in the gorge of
Chambal river.

(c) Pandu-lena Cave Shrines lie in the
gorge of Narmada river.

(d) Amaravati Stupa lies in the gorge
of Godavari river.

50. Consider the following statements :

1. 21st February is declared to be
the International Mother Language
Day by UNICEF.

2. The demand that Bangla has to be
one of the national languages was
raised in the Constituent Assembly
of Pakistan.

Which of the above statements is/are

correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

BXC-U-FTHI/68A 23 [ P.T.O.
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51. rfi FW (Fwiwe=), ol TRt FHY A

form e i 27

1. Wt R wu= R vl #
galcdTied a1 8, g arufe wamafe
i & v F vefa f g )

2. 9iufE TEEfE F F FR ga f

davra § Ifg @ wwdt R}, fFg @ oaw

%1 aRaen wrl F & g 76
2

3. widhew TEmERE FH oawyew A #
HEE | |9a ?, g T aet 3 wrh
F gt srarh & Hva T 2

4. Wea s (Afcam) i wen TRt HN A
F6 Tl R, fg i Tt
Fiy § Veht worn rravEs 7E R)

R g e Fe w1 W = wd s gl

(@ 133

(b) 1, 23R4

(c) Had 4

(d 233

52. ‘de 9 (YW Afgw) & wed #H, el

YA R =R il
1. e 99 3@ cfEu-gd uRen § wpfes

w9 3 qR S R

2. d¢ dd foufRs iR 7 TN T FB
Fat ¥ for = wie )

3. dIE dd F I Ja e b I §
foren < wFan B

9T HoEl H | HH-9 HE &7

(@) Fad 1 3R 2

(b) Fad 2 3R 3

(c) ¥aa 1 3R 3

(@@ 1,23R3
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53. fhy 7 woreht ¥ @l #, Ffafas ww Afet

# 2 A At A B T A e
< A Riy 7 @ e 21 et 3 @ 7
T B 2, 9 g 7 @ 9 freh 37

(@) =
(b) FH
(c) e

(@) g

54. WG % @ # igam, FIWH, FUIE 3R @ :

foreh a9 27

(@) TewTe

(b) TRA (F) &
(c) THER &3

(d) <@ A

I & @ FA- Afeat goff = & Fewad §7
(@ 13R2
(b) 23R4
() 33M4
(d 13R3
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51. How is permaculture farming different 53. With reference to the Indus river system,
from conventional chemical farming? of the following four rivers, three of
1. Permaculture farming discourages ; them pour into one of them which joins
monocultural practices but in the Indus direct. Among the following,
conventional chemical farming, which one is such river that joins the
monoculture practices are pre- Indus direct?
: dominant. :
' 2. Conventional chemical farming can i), CRpgD
cause increase in soil salinity (b) Jhelum
but the occurrence of such
phenomenon is not observed in (c) Ravi
permaculture farming, :
3. Conventional chemical farming is (d) Sutlej

easily possible in semi-arid regions
but permaculture farming is not so
easily possible in such regions.

4. Practice of mulching is very
important in permaculture farming
but not necessarily so in (a) glaciers
conventional chemical farming.

54. With reference to India, Didwana,
Kuchaman, Sargol and Khatu are the
names of

Select the correct answer using the Gy PP areas
code given below. (c) Ramsar sites
(a 1 and 3

&) 1.2 and"% (d) saline lakes

(c) 4 only

(d) 2 and 3

55. Consider the following rivers :

52. With reference to ‘palm oil’, consider the 1. Brahmani
following statements :
» : : _ 2. Nagavali
1. The palm oil tree is native to
Southeast Asia. 3. Swubarnarekha
4

2. The palm oil is a raw material for
some industries producing lipstick
and perfumes.

3. The palm oil can be used to

. produce biodiesel.

Vamsadhara

Which of the above rise from the
Eastern Ghats?

Which of the statements given above
are correct?

(@ 1 and 2 only (b) 2 and 4
(b) 2 and 3 only

(@ 1 and 2

4
(c) 1 and 3 only () 3 and
s g (d 1 and 3
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56. Frfafaa $9 W =R HNT

1. Afis grR mEm (WEa EE FHEE)
sqig o # wgR-wed (dee)
@ iR @ & fau aEdE TE
4

2. YRE A AP -89 § HYR-uEald
afe A @i ¥ forg wmgdm ww e R

3. ‘T T whw (R @ fwe)’
Faifa va-89 § WgR duEd W
I B

I Al A -9 e B

(@) Faa 1 3R 2

(b) Fad 2 3R 3

(c) @ 133

(@ 1,23R3

57. frefafgd ¥ @ FA-H wod, FAAR TA-38
(efree af-uftnfiee) wee 87
(a) A1
(b) TR
(c) =T
(d) & (XS TM)

58. frfafad Hu ® faem $ifsg :

1. IwEEREdE &3 H, AR Y& % 99
¥ o & @l H o § T &
ufinft @ itk 3 A E

0. i &7 #, uferh v ufish @ i H
e # meerd % T @S A s
I ST 2

IR FoAl A A FH-A1 /A8 G R/

(@) Fad 1

(b) IS 2

(c) 1323

(d A0 1ARAA 2
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59. SCAY-AgEE BN (FegHe-Te TheeR)
fore wra 6 @ ¥ el #, Frafafaa woHi
‘-'Rﬁi‘l’(ﬁﬁ‘l‘!:

1155

Ra ¥ ‘SoEg-we am (FEEEe -
) gemm, iwigE  IEEud
FAFA—IE IREdd, FN @ TG
e ("o He To Tho THo) TW
garfera afEisHT %1 T 9 R
mo‘{ﬂo‘l{ot{mowom,m
P ogEem ¥ W W
(Hio S0 Mo To HRe) F ordH
Harfera fen st 2, e qereE %|
7 R

ya ¥ fR@ swigm sy
(30 "o Mo Mo THe To o),
?ﬂoﬁﬂoﬂﬁo'l{om"%wa;ﬁ
# A T R

IR HoEl § |} PH-4 T 87
(@ Faa 132
(b) %9« 2 3R 3
() Fa@ 1313
d 1,23R3

60. ‘‘wei-F (i frz) et s <fham (sm)
$ e # ¥h A Pk @ ¥ R T
qfomreEsy gl i ae I P A 2
¥ % e, 39§ fafy R % D9 W E
S mEw F g A ARy (TREEz) % w9
§ e ¥S) F 3 o agee iy @ ®
o ¥t I et # o W 17w
forae gaR it s faa 27
(@) TP
(b) = TR T
() TRM (Fi) S
(d) SoTHfeaHE auiad




56. Consider the following statements :

1. The Global Ocean Commission
grants  licences for seabed
exploration and mining in
international waters.

2. India has received licences for
seabed mineral exploration in
international waters.

3. ‘Rare earth minerals’ are present on
seafloor in international waters.

Which of the statements given above
are correct?

(@ 1 and 2 only
(b) 2 and 3 only
(¢) 1 and 3 only
(d 1, 2 and 3

57. Among the following, which one is the

least water-efficient crop? d
(a) Sugarcane
(b) Sunflower

(c) Pearl millet
(d) Red gram

58. Consider the following statements :

1. In the tropical zone, the western
sections of the oceans are warmer
than the eastern sections owing to
the influence of trade winds.

2. In the temperate zone, westerlies
make the eastern sections of
oceans warmer than the western
sections.

Which of the statements given above
is/are correct?

(a) 1 only

(b) 2 only

(¢) Both 1 and 2
(d) Neither 1 nor 2
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59. In the context of India’s preparation for

Climate-Smart Agriculture, consider the
following statements :

1. The ‘Climate-Smart Village’
approach in India is a part of
a project led by the Climate
Change, Agriculture and Food
Security (CCAFS), an international
research programme,

2. The project of CCAFS is carried
out under Consultative Group on
International Agricultural Research
(CGIAR) headquartered in France.

3. The International Crops Research
Institute for the Semi-Arid Tropics
(ICRISAT) in India is one of the
CGIAR’s research centres.

Which of the statements given above
are correct?

@) 1 and 2 only
(b) 2 and 3 only
(¢ 1 and 3 only
(d 1,2 and 3

60. “Leaf litter decomposes faster than in any

other biome and as a result the soil
surface is often almost bare. Apart from
trees, the vegetation is largely composed
of plant forms that reach up into the
canopy vicariously, by climbing the
trees or growing as epiphytes, rooted
on the upper branches of trees.” This is
the most likely description of

(@) coniferous forest
(b) dry deciduous forest
() mangrove forest

(d) tropical rain forest
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61. Taml Hi et § frat gu oR g& % Wiy

- gW % AF B &, fhg foga &3 & 9K 3w
7 B ) W@ A § aw e amE:
71 Tl A1 B TRl % wEeE % 5
frifa @rar 21 Yt aRfefoat Fefafea o |
HA-H 87

forereprdt woft ofR S

arfh

= AT goeht woft (FfEE)
dreedt aaf

T F

= R T 2 F W@ W @ IW A
(@ 132

o S B WS o

(b) 43R5
(c) 2,334
(@ 1,33R5

62. 37 TR W S % wed #, Frafafes Fu
ﬁﬂﬂiﬁﬁﬂz
1. RE i gt § s hi wE, -5
e A A R

2. yd femeae 3ir fewmel # <@ it A,
-7 ) A W A R

I oAl B A BH-T /AR TE /87
(@) Fad 1

(b) ¥ 2

{c}' 1 3R 2 <F

(@ A1 RAE 2
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63. F=ffiaa il W fa=r fifv .

143

AN (VEsH J4) TF FeAlER Famof &
2l

el w1 U S ofirn 1 T 3w
?1

wia # iR $el @Y SR b ®9
# wydia < ST R

R Tael 3R Aiftn % e fafa s
21

AR o gHeh F «fisl F I N4
$ua ¥ Ieared § frn S Ean R

e ot & @ A2 W

@ 1,2, 43R5

(b) 3,435

) 1,334

d 1,2, 335

64. Wd & Feh FU ga1 f) w1, Frefafea 3 |
fopre sTaem & g8 87

(@) S g

(b) Tt (Feem) Serem@™ =g

(c) Imge 3R e

(d) I IR FA-Ter



61. The vegetation of savannah consists of
grassland with scattered small trees,
but extensive areas have no trees. The
forest development in such areas is
generally kept in check by one or more
or a combination of some conditions.
Which of the following are such
conditions?

Burrowing animals and termites
Fire
Grazing herbivores

Seasonal rainfall

P a IR NE

Soil properties

Select the correct answer using the
code given below.

(@ 1 and 2
(b) 4 and 5
(c 2,3 and 4
(d 1,3 and 5

62. With reference to the water on the
planet Earth, consider the following
statements :

1. The amount of water in the rivers
and lakes is more than the amount
of groundwater.,

2. The amount of watér in polar
ice caps and glaciers is more than
the amount of groundwater.

. Which of the statements given above
is/are correct?

(@ 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2
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63. Consider the following statements :

1. Moringa (drumstick tree) is a
leguminous evergreen tree.

2. Tamarind tree is endemic to
South Asia.

3. In India, most of the tamarind is
collected as minor forest produce.

4. India exports tamarind and seeds
of moringa.

5. Seeds of moringa and tamarind
can be used in the production of
biofuels.

Which of the statements given above
are correct?

@ 1,2, 4 and 5
(b) 3,4 and 5
(€ 1,3 and 4

(d); 1,2, 3and5

64. The black cotton soil of India has been
formed due to the weathering of

(@) brown forest soil
(b) fissure volcanic rock
(c) granite and schist

(d) shale and limestone

IAS ACIXDEN
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65. ‘gr-advE (fifere) 9 dadia’ & wefvd
: Ta % wm ¥ ded #, Fefafaa sl W
ferFfm:
1. o YA % fawm # ety sShfed
1 7Em fora S #)

2. Wit v fawmped @1 @M AmEEE
(3FX) % ¥ & forn s 21

I HoAl | | PH-T1/FA-F TE /27
(@) FaA 1

(b) S 2

(c) 1323

(d FM1IRAE 2

66. R it F e #, Fafafad Ferdl w

foram ifSrg

1. 3@ ¥ Ifqum (37 fag) fe=sm da @
TR A W A GO ST
(wEdTeee framie) fafeen g
gl Wi (ARiETgea fesf) A
- & dad # 9 @ U1 S Fwa
Rl

2. Tt dam & g A gt ®9
A gofa: A @ s @ 7 6 far A

IS woEl # F PH-E /PR wE R/

(@) FEd 1

(b) FaS 2

(¢ 1 3R 23

(@ Fd1IAHR2

67. diaTE-1 3 afemE-1 WefifEa = Ige
fore gl & fopan wman 27
(@) HEeh TTEE T FEAA TaHA
(b) AR €9 A FUERT FEC T@E H
T
(c) UTeY FhEH w1l 1 I
(d) ¥ I H IARA
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68. Tl JvR F #, S qoHE W @R v ST
%, 9% gera: Frafafaa # @ R w it s
27
1. <& 1 e g = dewa

2. SO Rl d9HHE
3. @& Sl W

R R T 2 1 TE W qE W g
(@) Faa 1 3R 2
(b) Faa 2 3R 3
(c) Faa 1 3R 3
(d 1,233

69. Fr=fafa w famm fifs
Sftamy

18

2. wA®
3. foumg

I # A g Fhm/avafia mrem 7 et
o <t wehan 27

(@) FaA 1 3R 2

(b) Fad 2 3R 3

() Faa 1IR3

(@ 1,23R3

70. Frafafas FuHl w fo=r Hif

1. EHEERE # THda-ag Slo TWo To
oA (W) 21 %, wafs arrd 3
fg-dg €lo o To He(A (M) Ad €1

2.  Hfi-Hft T JHEW TEHEEE % HRO
Bra1 B, @i TgE (To 3MMEo Elo THo)
WaE@ % HR0 Al B

I oAl H ¥ FH-H1/FA-R T /R

(@) Faa 1

(b) A€ 2

(¢) 1 3R 23H

(@ Fd@ 1M 2

Ashok Nagar X Roads, Hyderabad-20 | www.ekamiasacademy.com | 81210 17337




65. With reference to recent developments

regarding ‘Recombinant Vector
Vaccines’, consider the following
statements :

1. Genetic engineering is applied in
the development of these vaccines.

2. Bacteria and viruses are used as
vectors.

Which of the statements given above
is/are correct?

(@ 1 only

(b) 2 only

() Both 1 and 2

(d) Neither 1 nor 2

66. In the context of hereditary diseases,
consider the following statements :

1. Passing on mitochondrial diseases
from parent to child can
be prevented by mitochondrial
replacement therapy either before
or after in vitro fertilization of egg.

2. A child inherits mitochondrial
diseases entirely from mother and
not from father.

Which of the statements given above
is/are correct?

(@) 1 only

(b) 2 only

(¢) Both 1 and 2
(d) Neither 1 nor 2

67. Bollgard I and Bollgard II technologies
are mentioned in the context of

(a) clonal propagation of crop plants

(b) developing genetically modified
crop plants

(c) production of plant growth
substances

(d) production of biofertilizers

\‘/j\&f
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68. In a pressure cooker, the temperature

at which the food is cooked depends
mainly upon which of the following?

1. Area of the hole in the lid
2. Temperature of the flame
3. Weight of the lid

Select the correct answer using the
code given below.

(@ 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d 1, 2 and 3

69. Consider the following :

1. Bacteria

2. Fungi

3. Virus

Which of the above can be cultured in
artificial/synthetic medium?

(@ 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d 1, 2 and 3

70. Consider the following statements :

1. Adenoviruses have single-stranded
DNA genomes whereas retroviruses
have double-stranded DNA genomes.

2. Common cold is sometime caused
by an adenovirus whereas AIDS is
caused by a retrovirus.

Which of the statements given above
is/are correct?

(@) 1 only

(b) 2 only

(¢) Both 1 and 2
(d) Neither 1 nor 2
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71. vt FFE o1 7@ i e s vl @ e
a1 ®, HITH '
(@) Tah S fagda @
(b) & S H1 GAETS ¢
(c) 3ah fafdre S 1 AW I el @
(d) TR TGN F Th AEE

72. GeE VEW R & wof #, ®feam afwd,
To $o o afvEl ¥ fFa T fi €7
1. ufeam skt yem 1 360 faft # 3a=
w ¥, frg tee do Do Al # T
7 dran 21
2. WSH N avEl % &9 H, Teo 3o o
shet f gen § Afem af@E R
I srafy st Bt 71 -

3. Wy o % 39 THI H1 T IR

Tl € 8, Sl Teto do Fo afwl
g vEm wERd § aeie i glawnd
(Fer F2HS) WaH FA 2

419 fw T 2 N R EE I g

(@) Fad 3

(b) Fad 2

(c) Fad 1 3R 3

d 1,23R3

73. ‘ACE2’ T %1 3g@ Torm e # forem < 27
(@ SERE w1 @ wWEG wed #
R (SF) S
(p) wa & Tt IwR HEwEH Ut
farrma

(c @ wiE w frme @ ¥ o e
EANQ

(d) Taemsifra T 1 TER
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74. faf@ia A (BPA), S f=n &1 FRW R,

Frefofaa A 59 91 & wifes & I
U TETCHE /B HEF

(@ T o 9 wiferefereia
(b) iR

(c) wifeTefirefa Qe

(d) wiAfeARa FTARES

75. Freffaa § ¥ el ‘geeaeE % femm g

£ watfes gura §, fas &9 99 7% 3=
TR ¥ UNTEA 3 @ ) B A S 87

(@) GrE UTREH
(b) HE THR A T
(c) TSI TAEH F I

(d) vEEA "

76. @i gfEl whm-ad # AR SA F R

freferfaa # & FA-31 27

(@ e il % fm f gt afafd @
Bt €1

(b) e el % e wRafda A € 2
(c) W Hea e Y § B0 w2

(@ v h R (efe) weE wEeEE B
21
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71. Water can dissolve more substances than 74. Bisphenol A (BPA), a cause of concern,

any other liquid because is a structural/key component in the
B i x manufacture of which of the following
(a) it is dipolar in nature kinds of plastics?
(b) it is a good conductor of heat

(c) it has high value of specific heat (@) Low Ssngity patyetiiyicne

(d) it is an oxide of hydrogen (b) Polycarbonate
72. With reference to street-lighting, how do (c) Polyethylepe terephthalate
. sodium lamps differ from LED lamps?

d) Polyvinyl chloride
1. Sodium lamps produce light in @ %

360 degrees but it is not so in the

case of LED lamps.

75. ‘Triclosan’, considered harmful when
exposed to high levels for a long time,
is most likely present in which of the

3. The spectrum of visible light following?

from sodium lamps is almost
monochromatic while LED lamps
offer significant colour advantages
in street-lighting,

2. As street-lights, sodium lamps have
longer life span than LED lamps.

(a) Food preservatives

(b) Fruit-ripening substances
Select the correct answer using the

code given below. (c), Reused plastic containers
(@ 3 only (d) Toiletries
(b) 2 only

(0 1 and 3 only
76. Which one of the following is a

(d 1,2 and 3 reason why astronomical distances
L are measured in light-years?
. 73. The term ‘ACE2’ is talked about in the
- context of (a) Distances among stellar bodies do
not change.
. (a) genes introduced in the genetically
modified plants (b) Gravity of stellar bodies does not

(b) development of India’s own satellite change.
navigation system

¢) Light always travels in straight line.
(c) radio collars for wildlife tracking (e ™ o gh

(d) spread of viral diseases (d) Speed of light is always same.
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79. VA & wlgR % F Ig=st F IHaia
‘Tt 1 erferRR’ wfEa B7

77. T fafdw niew w snufa dwdm dwaa &
IoAmn &, fieg T wiew 3@ wiea @ R
TR fim 27

1. wel a% faf-fmin & e ¥, fifw (@) =BT 15
wge gaaR sigan @uy §, g wRa #
wae < fafy-Fmfor < i wfwdfa 2 (b) FF=BT 19
2. wRa #, 9o ¥ o sfufam & dmem
£ GAufea ¥ Gt T = (c) 3R 21
T R Gfau™ 918 1 99 9§
(d) FT=BE 29
H2 Ry T g2 w1 @ W g IW gR)
(@) *aa 1
80. fF=fafad FuHl =R Hifv :
P e % Y@ g T & S wenfit
1. 9@
c) 1323 M

F i & 9% w0 FEE A d=
fratea-241 ¥ wed | U B

2. 1991 ¥ ek W g & #ft |
d7 e v Fafe-ae ¥ gIE a9
o1

Fdgm Femt % ogEr, ARk FE werh

(@ AN 1IMAA 2

78. €9 TR ¥ " H, Frafafaa wu w =R
Hife
1. To Tuarad JER wEfd A gHEE 3.

o o 5 feeft R oin Rt wfva =
TRl GUR FH 3R I wgE A b
foru qofa: i o s =nfew)

TR GUR I, 1966 H T
agr w9 1970 # FigE fawm =

o U @i @ g fatea-
& A g ae B, @ IhH 9 B F
Fratem-86l $ Iu-gFEl F @H I][TE
=ift, R 3 @t fFn @ 9ed o'
it Fafeq-aet @ fseft gam &

TR R s e 4 A A
i FAT 3 A - /AA-D @ R/ (@) ¥ 1
(@ Fad 1 (b) Faa 2
(b) Fad 2 -y
1 3R 3
¢ 1 3R 23 ki
(@ @ 1IARAH 2 (@ 233

34
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77. We adopted parliamentary democracy 79. Right to Privacy’ is protected under
based on the British model, but how which Article of the Constitution of
does our model differ from that model? India?

1. As regards legislation, the British
Parliament is supreme or sovereign
but in India, the power of the

(a) Article 15

Parliament to legislate is limited. (b) Article 19
2. In India, matters related to (c) Article 21

the constitutionality of the

Amendment of an Act of the (d) Article 29

Parliament are referred to the
Constitution Bench by the

Supreme Court. 80. Consider the following statements :

: Select the correct answer using the

code given below. 1. In India, there is no law restricting

&l 1 only the candidates from contesting in
one Lok Sabha election from three

(b) 2 only constituencies.

(c) Both 1 and 2 ;

(d) Neither 1 nor 2 2. In 1991 Lok Sabha Election,
Shri Devi Lal contested from three

78. With reference to the Union Government, Lok Sabha constituencies.

consider the following statements : . il )
. 3. As per the existing rules, if

l. N Gopalaswamy lyengar a candidate contests in one Lok
- Committee suggested that a Sabha election from many
minister and a sccretary  be constituencies,  his/her  party
designated solely for pursuing the should bear the cost of bye-
subject of administrative reform elections to the constituencies
and promoting it. vacated by him/her in the event
2 1970, the Department - of him/her winning in all the
of Personnel was constituted constituencies.
on the recommendation of
l A e ,A,d e e RFforms Which of the statements given above
Commission, 1966, and this was {688 coptect?
placed under the Prime Minister’s
charge.
.
- Which of the statements given above (@) 1 only
is/are correct?
(@) 1 only (). 2 only
(b) 2 only © 1 and3
() Both 1 and 2
(d) Neither 1 nor 2 (d) 2 and 3
BXC-U-FTHI/68A 35 [P.T:0.
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81. fr=feftad wuel w fomm Hifsw :

1. ‘v % AR T Gd qEa AR
R aw @ wEw #, ugw Uy efee
(Fo o BfeRe) WA= W W A W
wftrergarat =1 wiet et 2

2. ‘W F AR TR F T3S Fardt B
TR A gEeEe ™E R 9™ W@l
(faem) Td dEH®  H@WIfar 6
ferEpR 2@ B

3. ‘e AR’ F A ¥ 6 s,
TR I el afeEl B el R e
a1 iyan ghawn | dfea 78 R aawa|

I FoE H A BA-A1/FH-8 @ 2/
(@) ¥ 1
(b) a3
(€ 13R2
(d) 23R3

82. WRd * ded 1, fymfufaa #wudi W fa=w

EAIE L
1. it feowa w1 3d ? OfF aftge
Haf aive it fema § ® ik W@

g $ gfe RIA & gara@ § W@l
e & 7 f6 e #)

2. =fis fetwa & dRF, Ame ¥ AN
gfem e, =meE i sgEfd
forn wfey =afts @ (Ba® 7d = wHd|

I weEl § | FH-T1/AA-] T /R

(@) a4 1

(b) Fad 2

(c) 1323

(d @ 1ARTH2
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83. W & Hed A, Frafafgs #ul W femr

HIRrg :

1. & TF ¥ wain FUR T&ga Fa g, @
W F B We 7 T fF S we,
Hifeh o8 ITh ATYHR 1 AHA a4 ST
2

2. ¥ F o W I F forg 59 wHR
% a9 frem §)

I HYA A A FH-A1/FA-H & 2/87

(@ Fad 1

(b) A 2

(c) 1 3R 23

(d I@13RAA2

84, T¥Y W W, YA SHwd iR 3 IRINE

a7 Fard (7 ARt 6t g stftfem,
2006 % YT FHEl<EA A gHE[G FA F
g B TEeE FeE A (Fed
) R7

(a) ATV, 99 3R STary IREdq HAed
(b) YA TS HATTHE

(c) T faewm HETeE

(d) SHSTAR S HAEH

85. FA H @ FA b THA ¥ P fawm, S

et FHUeE AYal EHS TitEE B
AfERE va sfEta fadeftmr T 8, wRa
% dfgum % Frafafaa sg=edt & @ Fraen
IFEA T R
(@) JT=B2 14
(b) =R 28
(c) FT=d2 32
(d) JT% 44
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81. Consider the following statements : 83. With reference to India, consider the

1. Right to the City’ is an agreed
human right and the UN-Habitat
monitors the commitments made
by each country in this regard.

2. Right to the City’ gives every
occupant of the city the right to
reclaim public spaces and public
participation in the city.

3. ‘Right to the City’ means that the
State cannot deny any public
service or facility to the
unauthorized colonies in the city.

Which of the statements given above
is/are correct?

following statements :

1. When a prisoner makes out
a sufficient case, parole cannot be
denied to such prisoner because
it becomes a matter of his/her
right.

2. State Governments have their own
Prisoners Release on Parole Rules.

Which of the statements given above
is/are correct?

(@ 1 only

(6) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

(a) 1 only

(b) 3 only 84. At the national level, which ministry is
the nodal agency to ensure effective

() 1 and 2 implementation of the Scheduled Tribes

(d) 2 and 3 and Other Traditional Forest Dwellers

82. With reference to India, consider the

following statements :

1. Judicial custody means an accused
is in the custody of the concerned
magistrate and such accused is
locked up in police station, not
in jail.

2. During judicial custody, the police
officer in charge of the case is not
allowed to interrogate the suspect
without the approval of the court.

Which of the statements given above

(Recognition of Forest Rights) Act,
20067

(@) Ministry of Environment, Forest
and Climate Change

(b) Ministry of Panchayati Raj
(c) Ministry of Rural Development
(d) Ministry of Tribal Affairs

85. A legislation which confers on the

executive or administrative authority
an  unguided and wuncontrolled
discretionary power in the matter of
application of law violates which one

is/are correct? of the following Articles of the
Constitution of India?
(@) 1 only (a) Article 14
(b) 2 only (b) Article 28
(c) Both 1 and 2 (c) Article 32
(d) Neither 1 nor 2 (d) Article 44
BXC-U-FTHI/68A 37 EETO:
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86. WRAW Tsa-=gawy ¥, Fr=fafaa & § F9- 88. WRdH =AUt % ded #, f=fafas st

sfed foRwar 8, s 38 <widt ®@ f& s
=&y gHig 27

(@) TR = Tal giida R

(b) ¥a H fuRem § Hues A *
fraifaa wfafiy 8 21

() ¥ vifiea # adr i ¥ faifa
SRiff 2 v £

(d) & AR FETER! g’ Fad-E €|

87. ffufaa & ¥ #F-91 ‘U9’ =%+ AR

w9 § gRefea s &7

(@) =afFE #1 % ageE, s e e s
o % w Pt g § el w9 @
e =@ § 3 Rmdht = wnfea
R B

(b) & Tiftm s F Tefos w9 @ Fled
dm, S W U A, S
FERA H ST T@R, O W
SRt Y T e A Aut SshfeE %
et 1 g e AR W@ @

(c) agaﬂmﬁs,@@ﬁ%awﬁﬁaga
WS T R A, wou 3R
MO~ % 1Y T Y &

R foEr fifse

1. WRad % Ugyfd $ qEigatd ¥ WRa & J&8

T N IHG e | HarHgy
frft =y A I=AH AERE %

EHie % 78 | ¥4 3R FE F TG
A1 ST el B

2. wra A Rl o 5= AEeE @ oem
fofa % qafdc B wiw s 3, S
o I=Iam =mTe™ % U 1

SE oAl ¥ P-A/AR-R T R/R7
(@ Faa 1

(b) e 2

(c) 1 3R 23

(d @ 1ARAH2

89. Yd ¥ uey #, Frfafed #oAl w fo=mw

HIfvT

1. ¥Ra ¥ ¥aa TH & Triiehar 3R T @
ftrama 1

2. St e w9 A ARG A, FaA q@
TETEAE & Fehal ¢

3. fomm fsh = & ar e 2 § T R,
feet off oitfedfa # <@ so@ afua =&
fora < wRan|

I Bl # A FH-T/PE-A @ /R
(@ Faa 1
(b) e 2
c 133
(d 233

90. frafiftaa # ¥ SF-91 Fr Ot J]R Arbas

et

- S

¥ TaeAal ) wataw g S Frd et
(@ = Fifdm g d @ ' A ' @ (@) T NioEs =Tt
e, Rl w S Wi qon (b) TRt 1 Heskieron
Fa wiitert % wia e ST (c) Taifm TR
IR T T AR & (d) wfeRat 61 gl
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86. Which one of the following in Indian
polity is an essential feature ‘ that
indicates that it is federal in character?

(a) The independence of judiciary is
safeguarded.

(b) The Union Legislature has elected
representatives from constituent

units.
-3 (c) The Union Cabinet can have
elected representatives from

regional parties.

(d) The Fundamental Rights are
enforceable by Courts of Law.

87. Which one of the following best defines
the term ‘State’?

(@ A community of persons

H permanently occupying a definite
. ' territory independent of external
F control and possessing an

organized government

(b) A politically organized people of
-a definite territory and possessing
an authority to govern them,
maintain law and order, protect

1 their natural rights and safeguard

their means of sustenance

(c) A number of persons who have

been living in a definite territory

3 for a very long time with their own
culture, tradition and government

(d) A society permanently living in
a definite territory with a central
authority, an executive responsible
to the central authority and an
independent judiciary

BXC-U-FTHI/68A
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88. With reference to Indian judiciary,

consider the following statements :

1. Any retired judge of the Supreme
Court of India can be called back to
sit and act as a Supreme Court
judge by the Chief Justice of
India with prior permission of the
President of India.

2. A High Court in India has the
power to review its own judgement
as the Supreme Court does.

Which of the statements given above

is/are correct?

(@ 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

89. With reference to India, consider the

following statements :

1. There is only one citizenship and
one domicile.

2. A citizen by birth only can become
the Head of State.

3. A foreigner once granted the
citizenship cannot be deprived of
it under any circumstances.

Which of the statements given above

is/are correct?

(a) 1 only

(b) 2 only

(¢ 1and 3

(d) 2 and 3

90. Which one of the following factors

constitutes the best safeguard of liberty
in a liberal democracy?

(@) A committed judiciary
(b) Centralization of powers
(c) Elected government

(d) Separation of powers

[P.T.O.
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91. WRd™ Gfau™ ¥ i u9 H1 Fsreno fFu 94. HifquTieH TWHR F1 A" 1 87
ey @ Fl T A S T w
(@) EHA T AfHR wfaffer TR
' (b) H wER, e wg@ % g e !
(b) T F Afd F Fewe a afer A
71 1 AFR (c) F§ TR, a® Tg@ F W ARaH }
(c) T@TEA ¢
(d) A hl SR (d) ®§ @R, S wlegw Hi dwed | 4
feg A
; :}
92. WG & Tufy & sifermn H == foufq 27 T Bt T B .
(@) % fafts siftew 8, S Faw TR R Heiferd 87 ]
TH & (@) TR YRE 1 JAEY
(b) T Tafte aften B, S e oft safe =t (b) TRRA
 ? (c) iR T feshen
() & qE AVHR ¥, SN Fa@ ARSI H (d) ST W .
TH & '
96, T Wi T g ¥ day #, Fefefe *
(@ & 7 @ 7@ AR R, 7 @ fafs Fort W R AR ;
1. VRS 3 9 TEHR, WA & GfuH
¥ =92 18 (1) & 3Feria ITer ) |
03. 26 SHall, 1950 | WRA H AT 2. @i 1954 % yRW oy MY T g A
gitnfs Rty @0 7 Faa Tk ar Pefea fF o ‘
3. T ad-fim # wRwe gEwri i
(@) bR TR siftrwan de ute o w2
(b) GYOl S-S AIHCATHS TR I woAl § @ FA-Y A T 87 »
R
P (@) 132
TR (b) Fa« 2 3R 3
(@) T wE-HTE e it ) ¥1aMR3:
AFdATcHS TR (d 1,23R3
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91. Under the Indian Constitution, 94. Constitutional government means

concentration of wealth violates :
(a) a representative government of
a nation with federal structure
(@) the Right to Equality
(b) a government whose Head enjoys

ominal rs
(b) the Directive Principles of State gk g g

Policy () a government whose Head enjoys
real powers
(c) the Right to Freedom (d) a government limited by the terms
v of the Constitution

(d) the Concept of Welfare

95. With reference to India, the terms
‘Halbi, Ho and Kui’ pertain to

92. What is the position of the Right to (a) dance forms of Northwest India
Property in India? (b) musical instruments
(a) Legal right available to citizens only (c) pre-historic cave paintings
(d) tribal languages
(b) Legal right available to any person
96. Consider the following statements in

(c) Fundamental Right available to respect of Bharat Ratna and Padma
citizens only Awards :
1. Bharat Ratna and Padma Awards
(d) Neither Fundamental Right nor are titles under the Article 18(1) of
legal right the Constitution of India.

2. Padma Awards, which were
instituted in the year 1954, were

93. What was the exact constitutional status suspended only once. :

of India on 26th January, 1950? 3. The number of Bharat Ratna
- Awards is restricted to a maximum

(@) A Democratic Republic of five in a particular year.
a Which of the above statements are

(b) A Sovereign Democratic Republic not correct?

(c) A Sovereign Secular Democratic (@) 1 and 2 only

Republic (b)) 2 and 3 only

(d) A Sovereign Socialist Secular fc) 1 and 3 only

Democratic Republic {d) 1, 2 and'3
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97. Tr=faRaa HuA W fomm Hifsw :
SYd 1:

ﬁgﬁu‘g%ﬁﬁﬂﬂﬁfﬁ({o‘l{qoﬁoﬁo@o)
R R 2 HESYE A TW @ ¥ FER
# fam ¥ 2020 3@ TR H H=HA TH
# R

HYH 2 ;.

el o A dgn iR wafm A F ufd
yheem A @ Y AR B OTH AW F
ot 7q mr=ran g =R TR T R

i el 3 wad #, frerfeiaa 3§ @ #a-m
wh ¥

(@ FuA 1 M w2 I qE I
FYH 2, YA 1 ) T =TS R

(b) FA 1 A woA 2 A wE@ R, g
FYF 2, FUA 1 H TE AT TE 8

(c) FU 1 R, Feg Fom 2 W T R
(d) #1980 TE R, g v 2 7@ &

98. f 2000 # WRM fhy Wy witaw faw @«
W(ﬂfﬂuﬂaﬁ.‘vﬂ;ﬁm)%dﬁuﬁ
Frefafag FoA R faew $ifvw

1. Id Tew faerdt TR gE@ W
eERR o wAeA Tt 2

2. ¥4 T Te TN AR A T
¥ fagenfedt i firen 21 :

3. ¥ faafedl H go § T Fsw A
Te qEEhR Faifs ar fie R

IR woFl § A P8 TE R?

(@) *ad 1 3R 2

(b) Faw 2 33

() Faa 133

(@ 1,233
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09. 323 Tl s ¥ wed ¥, Ffafea
FA] | fa=m i

1. W oNcie H AUHME & a=
‘w 7E g (T aeE)’ R

2. M s # wWE Femsfm, @fHn,
Thedifdn, e qu SEEra S W

fopa T R)
IFY FoAl A PA-H/BA-A FE R/RY o
(@) F 1 R
(b) FI 2
(c) 1323

(@ J@13MAE2

100. g0 o Hio s 2w ARl ¥ Ff ¥,
Frafafaa wuAi ® fmm A

1. 3ifm 9 # wgen Al de o fuio,
7% T oY e Al < dEm & IR
 foman )

2. wSide H WM e ¥ FW o1, HMilh
I Te i gan § aftre ¥ Sfa)

I FoAl A A PH-T /A2 @ /R
(@) mf

(b) a2

(c) 1323

(@ qAMN13MAH2
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97. Consider the following statements :

Statement 1 :

The United Nations Capital
Development Fund (UNCDF) and
the Arbor Day Foundation have
recently recognized Hyderabad as
2020 Tree City of the World.

Statement 2 :

Hyderabad was selected for the
recognition for a year following its
commitment to grow and maintain
the urban forests.

Which one of the following is correct in

respect of the above statements?

(a) Both Statement 1 and Statement 2
are correct and Statement 2 is the
correct explanation for Statement 1

(b) Both Statement 1 and Statement 2
are correct but Statement 2 is
not the correct explanation for

~ Statement 1

(c) Statement 1 is correct but

: Statement 2 is not correct

(d) Statement 1 is not correct but
Statement 2 is correct

98. Consider the following statements in

respect of the Laureus World Sports

Award which was instituted in the

year 2000 :

1. American golfer Tiger Woods was
the first winner of this award.

2. The award was received mostly by
‘Formula One’ players so far.

3. Roger Federer received this award
maximum number of times
compared to others.

Which of the above statements are

correct?

(@ 1 and 2 only

(b) 2 and 3 only

(¢0 1 and 3 only

(d 1,2 and 3
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99. Consider the following statements in
respect of the 32nd Summer Olympics :

§ ¢

The official motto for this Olympics
is ‘A New World’.

Sport Climbing, Surfing,
Skateboarding, Karate and
Baseball are included in this
Olympics.

Which of the above statements is/are
correct?

(a) 1 only

(b) 2 only

(¢) Both 1 and 2

(d) Neither 1 nor 2

100. Consider the following statements in

respect of the ICC World Test
Championship :
1. The finalists were decided by the

number of matches they won.

New Zealand was ranked ahead
of England because it won more
matches than England.

Which of the above statements is/are
correct?

(a) 1 only

(b) 2 only

(¢ Both 1 and 2

(d) Neither 1 nor 2

[P.T.O.
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1 i 21 C 41 B 61 C 81 D
2 B 22 B 42 B 62 B 82 B
3 B 23 D 43 A 63 B 83 B
4 A 24 A 44 C 64 B 84 D
5 B 25 6 45 A 65 ¢ 85 A
6 D 26 r 46 C 66 g 86 A
7 A 27 £ 47 D 67 B 87 A
8 A 28 C 48 B 68 C 88 A
9 D 29 A 49 A 69 A 89 A
10 D | 30 ' D 50 B g 70 B 90 D
11 C 31 C 51 B ", W71 Ta 91 B
12 A 32 A 52 B 72 E 92 B
13 B 33 A 53 D 73 D 93 B
14 C 34 B 54 D 74 B 94 D
15 18 35 D 55 B 75 D 95 D
16 A 36 g 56 . B 76 D 96 D
17 B 37 D 57 A 77 C g - Db
18 D 38 A 58 € 78 B 98 C
19 A 39 C 59 D ?9 C 99 B
ST Gl i B |60 D 80 TR T A
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